Determining Payroll Tax Withholding

Taxes based on the payroll of a business are called payroll taxes. A business is required by law to
withhold certain payroll taxes from employee salaries. All payroll taxes are based on employee total
earnings. Therefore, accurate and detailed payroll records must be maintained. Errors in payroll records
could cause incorrect payroll tax payments. Federal and state governments may charge a business a
penalty for failure to pay correct payroll taxes when they are due. Payroll taxes withheld represent a
liability for the employer (they are recorded as payables) until payment is made to the government.
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The information used to determine the amount of income tax withheld is identified on Form W-4,
Employer’s Withholding Allowance Certificate. A deduction from total earnings for each person legally
supported by a taxpayer, including the employee, is called a withholding allowance. Employers are
required to have a current Form W-4 on file for all employees. The amount of income tax withheld is
based on employee marital status and number of withholding allowances. A married employee will have
less income tax withheld than a single employee with the same total earnings. The larger the number of
withholdings allowances claimed, the smaller amount of income tax withheld.

The amount of federal tax withheld from each employee’s total earnings is determined from
withholding tables prepared by the IRS; the tables are revised each year. Tables of prepared for various
payroll periods — monthly, semimonthly, biweekly, weekly, and daily. The tables shown on the next two
pages are semimonthly.

If employee Rick Selby (shown in the W-4 above) earned $1,137.00 in the current pay period, you would
use the married table in the next page to figure his withholding.

1. Make sure you are using the correct table (married, semimonthly)

2. Locate employee’s total earnings on the left side of the table ($1,120 to $1,140)

3. Read across until you find the employee’s number of withholding allowances (4)

In the case of Rick Selby, he would have $28 withheld from his paycheck for federal income tax.



Determining Payroll Tax Withholding

MARI;!IED Persons—SEMIMONTHLY Payroll Period

© Select the appropriate table.

If the wages are— And the number of withholding allowances claimed is—
1 2 B 6 7§ 1
At least BL:;;SS < 2 2 ¥ !
The amount of income tax to be withheld is—
T T T T T T T T T

720 740 40 27 14 1 0 0 0 0 0 0 0
740 760 42 29 16 3 0 0 0 0 0 0 0
760 780 44 31 18 5 0 0 0 0 0 0 0
780 800 46 33 20 7 0 0 0 0 0 0 0
800 820 48 35 22 9 0 0 0 0 0 0 0
820 840 50 37 24 11 0 0 0 0 0 0 0
840 860 52 39 26 13 0 0 0 0 0 0 0
860 880 54 41 28 15 2 0 0 0 0 0 0
880 900 56 43 30 17 4 0 0 0 0 0 0
900 920 58 45 32 19 6 0 0 0 0 0 0
920 940 60 47 34 21 8 0 0 0 0 0 0
940 960 63 49 36 23 10 0 0 0 0 0 0
960 980 66 51 38 25 12 0 0 0 0 0 0
980 1,000 69 53 40 27 14 1 0 0 0 0 0
1,000 1,020 72 55 42 29 16 3 0 0 0 0 0
1,020 1,040 75 57 44 31 18 5 0 0 0 0 0
1,040 1,060 78 59 46 33 20 7 0 0 0 0 0
1,060 ' 81 61 48 35 22 9 0 0 0 0 0
1,080 1,100 84 64 50 37 24 11 0 0 0 0 0
1,100 1,120 87 67 52 39 26 13 0 0 0 0 0
> 1,120 1,140 90 70 54 41 > 28 15 2 0 0 0 0
1,140 1,160 93 73 56 43 30 17 4 0 0 0 0
1,160 1,180 96 76 58 45 32 19 6 0 0 0 0
1,180 1,200 99 79 60 47 34 21 8 0 0 0 0
1,200 1,220 102 82 63 49 36 23 10 0 0 0 0
1,220 1,240 105 85 66 51 38 25 12 0 0 0 0
1,240 1,260 108 88 69 58 40 27 14 1 0 0 0
1,260 1,280 111 91 72 55 42 29 16 3 0 0 0
1,280 1,300 114 94 75 57 44 31 18 5 0 0 0
1,300 1,320 117 97 78 59 46 33 20 7 0 0 0
1,320 1,340 120 100 81 62 48 35 22 9 0 0 0
1,340 1,360 123 103 84 65 50 37 24 11 0 0 0
1,360 1,380 126 106 87 68 52 39 26 13 0 0 0
1,380 1,400 129 109 90 71 54 41 28 15 2 0 0
1,400 1,420 132 112 93 74 56 43 30 17 4 0 0
1,420 1,440 135 115 96 77 58 45 32 19 6 0 0
1,440 1,460 138 118 99 80 60 47 34 21 8 0 0
1,460 1,480 141 121 102 83 63 49 36 23 10 0 0
1,480 1,500 144 124 105 86 66 51 38 25 12 0 0
1,500 1,520 147 127 108 89 69 53 40 27 14 1 0
1,820 1,840 195 175 156 137 B br 98 78 59 46 33 21
1,840 1,860 198 178 159 140 120 101 81 62 48 35 23
1,860 1,880 201 181 162 143 123 104 84 65 50 37 25
1,880 1,900 204 184 165 146 126 107 87 68 52 39 27
1,900 1,920 207 187 168 149 129 110 90 71 54 41 29

@ Locate employee's total earnings.

allowances column.

L) Intersection of wages and number of withholding

Using the married table above, determine the payroll tax withholding for the following employees:

Number of
Employee Marital | Withholding Total Federal Income Tax
# Employee Name Status Allowances Earnings Withholding
3 Bates, Eric C. M 2 $1,090.00
1 Grimes, Christi L. M 1 $840.00
5 Norris, John F. M 4 $1,250.00
9 Vale, Ann M. M 0 $1,050.00




Determining Payroll Tax Withholding

SINGLE Persons—SEMIMONTHLY Payroll Period

And the number of withholding allowances claimed is—

If the wages are -

[ [
| 0 1 2 3 [ 4 5 6 7 9 10
At least | BL;;;SS |
| The amount of income tax to be withheld is —
$0 $115 $0 $0 $0 $0 | 0 $0 $0 $0 $0 $0 $0
115 120 1 0 0 0 | 0 0 0 0 0 0 0
120 125 1 0 0 0| 0 0 0 0 0 0 0
125 130 2 0 0 0 | 0 0 0 0 0 0 0
130 135 2 0 0 0| 0 0 0 0 0 0 0
235 240 13 0 0 0 0 0 0 0 0 0 0
240 245 13 0 0 0 0 0 0 0 0 0 0
245 250 14 1 0 0 0 0 0 0 0 0 0
250 260 14 2 0 0 0 0 0 0 0 0 0
260 270 15 3 0 0 0 0 0 0 0 0 0
540 560 51 32 18 5 0 0 0 0 0 0 0
560 580 54 35 20 7 0 0 0 0 0 0 0
580 600 57 38 22 9 0 0 0 0 0 0 0
600 620 60 41 24 11 0 0 0 0 0 0 0
620 640 63 44 26 13 0 0 0 0 0 0 0
640 660 66 47 28 15 2 0 0 0 0 0 0
660 680 69 50 31 17 4 0 0 0 0 0 0
680 700 72 53 34 19 6 0 0 0 0 0 0
700 720 15 56 37 21 8 0 0 0 0 0 0
720 740 78 59 40 23 10 0 0 0 0 0 0
740 760 81 62 43 25 12 0 0 0 0 0 0
760 780 84 65 46 27 14 1 0 0 0 0 0
780 800 87 68 49 29 16 3 0 0 0 0 0
800 820 90 Tt 52 32 18 5 0 0 0 0 0
820 840 93 74 55 35 20 /4 0 0 0 0 0
840 860 96 17 58 38 22 9 0 0 0 0 0
860 880 99 80 61 41 24 11 0 0 0 0 0
880 900 102 83 64 44 26 13 0 0 0 0 0
900 920 105 86 67 47 28 15 2 0 0 0 0
920 940 108 89 70 50 31 17 4 0 0 0 0
940 960 111 92 73 53 34 19 6 0 0 0 0
960 980 114 95 76 56 37 21 8 0 0 0 0
980 1,000 117 98 79 59 40 23 10 0 0 0 0
1,000 1,020 120 101 82 62 43 25 12 0 0 0 0
1,020 1,040 123 104 85 65 46 27 14 2 0 0 0
1,040 1,060 126 107 88 68 49 29 16 4 0 0 0
1,060 1,080 129 110 91 71 52 32 18 6 0 0 0
1,080 1,100 132 113 94 74 55 35 20 8 0 0 0
1,100 1,120 135 116 97 474 58 38 22 10 0 0 0
1,120 1,140 138 119 100 80 61 41 24 12 0 0 0
1,140 1,160 141 122 103 83 64 44 26 14 1 0 0
1,160 1,180 144 125 106 86 67 47 28 16 3 0 0
1,180 1,200 147 128 109 89 70 50 31 18 5 0 0
1,200 1,220 150 131 112 92 73 53 34 20 7 0 0
1,220 1,240 153 134 115 95 76 56 37 22 9 0 0
1,240 1,260 156 137 118 98 79 59 40 24 11 0 0
1,260 1,280 159 140 121 101 82 62 43 26 13 0 0
1,280 1,300 163 143 124 104 85 65 46 28 15 2 0
1,300 1,320 168 146 127 107 88 68 49 30 17 4 0
1,320 1,340 173 149 130 110 91 71 52 33 19 6 0

Using the single table above, determine the payroll tax withholding for the following employees:

Number of
Employee Marital | Withholding Total Federal Income Tax
# Employee Name Status Allowances Earnings Withholding
2 Marquez, Lola S. S 1 $925.00
7 Rice, James H. S 2 $1,000.00
4 Cohen, Jason K. S 1 $840.00
6 Key, Sharon C. S 2 $980.00




Employee Social Security and Medicare Tax

The Federal Insurance Contributions Act (FICA) provides for a federal system of old-age, survivors,
disability, and hospital insurance. A federal tax paid for old-age, survivors, and disability insurance is
called Social Security tax. A federal tax paid for hospital insurance is called Medicare tax.

Social Security and Medicare taxes are paid by BOTH the employees and employer. Employers are
required to withhold and deposit the employee’s part of taxes and then pay a matching amount of these
taxes as well.

Social Security

Social Security tax is calculated on employee earnings up to a maximum paid in a calendar year. The
maximum amount of earnings on which a tax is calculated is called a tax base. Congress sets the tax
base and the tax rates for Social Security tax. The Social Security rate and base are currently 6.2% of
earnings up to a maximum of $132,900 in 2019.

Medicare
Medicare does not have a tax base. Therefore, Medicare tax is calculated on total employee earnings.
The current Medicare tax rate is 1.45% of total employee earnings.

Use the information in the table below to calculate Social Security and Medicare tax withholdings.

NOTE: ALWAYS ROUND TO THE NEAREST CENT.

Employee Total Social Security Tax Medicare Tax
# Employee Name Earnings Withholding Withholding
3 Bates, Eric C. $1,090.00
1 Grimes, Christi L. $840.00
5 Norris, John F. $1,250.00
9 Vale, Ann M. $1,050.00
2 Marquez, Lola S. $925.00
7 Rice, James H. $1,000.00
4 Cohen, Jason K. $840.00
6 Key, Sharon C. $980.00




